| ERXSERNEEFB-ERXREH

114 1,004 1,043
- ZaSIES 0 0
PR, BOE. WRIERITCE 1 0
e 105 101
s 118 118
B - A - Bt - K 0 1
g SGIEES 2 1
& e, BEE 32 38
X e, e 205 201
i, 12 12
(Fr) | REhEESE, Wi EEZE 65 60
FHTHESE. R - Bl — B X3 37 41
fETAE, BB —E R 140 139
ATEREEY— B R PR 114 122
BE. FHEIBEE 42 51
B, sk 62 94
BWE—ERAFHE 4 3
= R¥E oIV o) 65 61
114 11,285 | 11,446
= ZaSIES 0 0
PR, PO, WRIERITCE 2 0
e 806 684
S EE S 4,719 4, 403
B - A - Bt - K 0 9
I eCIEES 4 3
1€ |z, moE 775 727
i? HEIDE NN S 1,433 1, 400
B |[BRZE, PREREE 70 97
N IREiess, i Eivs 230 249
AL, B - BT — e R 279 534
fEVRE, BB —E R 885 932
ATEBE — e R FE | R 300 358
BE. FHEIBEE 177 213
R, sk 694 1,128
BEY—ERAFE 49 19
= R¥E oIV o) 802 690

ERL AR 7L —7 R PE SRR TR Y A- TR B A

PEFE - TS 20 FEEERTHEHE 2022 4FAR



